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Question 1

Question Type: MultipleChoice

Which of following V2X service statements is incorrect?

Options:

A- centralized deployment ...
B- third-party algorithm deployment framework
C- centimeter level positioning

D- capable of evolution to cooperative automated driving

Answer:

A

Question 2

Question Type: MultipleChoice




Which of following coding schemes is predominantly used for traffic channel in 5G?

Options:

A- palor code
B- turbo coding
C- convolutional code

D- LDPC

Answer:

Question 3

Question Type: MultipleChoice

Which of the following is a new service in the 5G era?



Options:

A- SMS
B- High-reliability and low-latency services
C- Mobile internet

D- N8-LoT

Answer:

B

Question 4

Question Type: MultipleChoice

Which of the following organization defines 5G standards?

Options:

A- 3GPP



B- 3GPP2
C-OTSA
D- JEE

Answer:

A

Question 5

Question Type: MultipleChoice

Which of the following is the maximum bandwidth of 5G mmWave defined by 3GPP

release 15 ?

Options:

A- 400 MHz
B-8.50 MHz



C- 200 MHz
D- 100 MHz

Answer:

A

Question 6

Question Type: MultipleChoice

In the IMT2020 vision, which of following is correct ratio of 5G servic e delay to the 4G service delay?

Options:

A-1/100
B- 1/20
C-1/10
D- 1/50



Answer:

Question 7

Question Type: MultipleChoice

Which of the following medical applications does not need to be supported by 5G?

Options:

A- Patient Locating
B- Remote surgery
C- Remote robot endoscope

D- Remote B-scan

Answer:

A



Question 8

Question Type: MultipleChoice

Which of the following companies has claimed that it will no longer develop 5G terminal baseband chipsets?

Options:

A- Intel
B- Samsung
C- Huawei

D- Qualcomm

Answer:

A

Question 9

Question Type: MultipleChoice




Which of following is the 5G loV alliance organization?

Options:

A- OTSA
B- X.lab

C- 5GAA
D- 3GPP

Answer:

Question 10

Question Type: MultipleChoice

Which one the following 5G terminals converts 5G signals into Wi -Fi signals for WTTx services? _SC



Options:

A- Router

B- CPE

C- Smartphone
D- Mifi.

Answer:

B

Question 11

Question Type: MultipleChoice

Which of the following is the recommended position for deploying the user data processing module for automated driving? _SC

Options:

A- Edge cloud



B- Regional Cloud
C- Core cloud

D- Access network

Answer:

A
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